Green Amber Red

A4r + 6 =2(2r + .....) 4r + 10 = 2(...... + ......) 6r+15=....[(....+5)
3r+9=3(r+....... ) 4t + 12 = 4(...... + ......) Oy + 12 = ......(...... + 4)
5t+10=5(t+....... ) Ok + 6 = 3(...... +......) 16h + 20 =4(...... + ......)
12f + 10 = 2(6f + ......) 12f + 15 = 3(...... + ......) 25ab + 35 =5(...... + ......)
15p+20=5(3p+....) [14g+21=7(. +.....) |38k+51=17(0oo. +......)
12w + 20 = 4(3W + ...... 18 +30=6(.. +.....) [28p+35=....(4p+....)
8h +10 = 2(...... + 5) 12r+ 18 =.....(6r + 9) 12w -30=...(4W - ......)
13d +26=13(.....+2) [20w+35=...(4w+7) |18v-20=....(9v-....)
18u + 24 =6(...... + 4) 30g+45=.....(2g + 3) 38i-57=....(...... - 3)
24g +30 = 6(...... + 5) 15g +25=....(3g+5)  |100j- 150 = 50(...... - ......




Challenge Super Challenge
12r + 10p = 2(....c. +......) |24+ 20p = ....c(ceeee +..000))
3t°+ 6 =3(en. +..0)) 16j + 20K = oo (o + .02
2ab-20c=.....(.....-10c) |18a + 72c = ......(vec... + ...
4g +12h =4(...... +......) |dcd+6Cc=....(2d +....)
6y’ + 8w =2(.. +......)  |12d-14r=0.5(...... - ......)




